English KS1 2016

Year 2 Reading Assessment
Marking Scheme for Paper 1

The Forgotten Teddy




Year 2 Reading Assessment Paper 1

question answer marks

notes

9. | What does ‘gathering dust ' mean?

The teddy has not moved from
the shelf for a very long time.

Content domain: 1a — Draw on knowledge of
vocabulary to understand texts.

Award 1 mark for the answer indicated.

10. | Why do you think Harry doesn’t want to play with Teddy anymore?

Harry is too old to play with
teddies.

Content domain: 1d - Make inferences from the text.

Award 1 mark for an answer that refers to Harry
being too old/being at college etc.

1. | Where was Teddy put after he was put into the bag?

He was put up in the loft.

Content domain: 1b - identify and explain key
aspects of fiction and non-fiction texts, such as
characters, events, titles and information.

Award 1 mark for the answer in the loft.

12. | What was it like in the loft?

It was dark and cold in the loft.

Content domain: 1b - identify and explain key
aspects of fiction and non-fiction texts, such as
characters, events, titles and information.

Award 1 mark for the answer dark and cold.

13. | What kind of things did Harry and Teddy do?

e fought battles against the evil
T-rex

e have picnics in the garden on
hot summer days

Content domain: 1b - identify and explain key
aspects of fiction and non-fiction texts, such as
characters, events, titles and information.

Award 1 mark for the answer have battles/picnics.

14. | How do you think Teddy was feeling when he was in the loft? Tick one box.

lonely

Content domain: 1d - Make inferences from the text.
Award 1 mark for the answer indicated.

15. | Why did Teddy forget about Harry?

Because he had been alone in
the loft for so long.

Content domain: 1d - Make inferences from the text.
Award 1 mark for the option indicated.
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Year 2 Reading Assessment Paper 1 3

He squinted through a hole in the bag and saw a tall man was climbing up into the loft.

L What does the word ‘squinted” mean?

Content domain: 1a — Draw on knowledge of

vocabulary to understand texts.
Looked through a small hole /gap. 1
Award 1 mark for any answers that refers to Teddy

looking.

17. | Who is the man?

H : Content domain: 1d - Make inferences from the text.
arr
Y Award 1 mark for the answer Harry.

18. | Number the events below to show the order in which they happen in the story.

Teddy is put up the loft - 2
Content domain: 1c — identify and explain the

The man gives the little girl the sequence of events in the texts.

teddy - 4 1
Teddy forgets about Harry - 3 CA;:?ggt}ymark for all four statements numbered

Teddy is sitting on a shelf - 1

19. | Explain why Teddy might be smiling at the end of the story. Give two reasons.

Possible answers include:
e Teddy is pleased to be out of

the loft. Content domain: 1d - Make inferences from the text.
e Teddy is happy to have Award 2 marks for an answer that includes two

someone to play with him 2 plausible reasons.

again.

Award 1 mark for an answer that includes 1
e He is no longer lonely. plausible reason.

e He's pleased that Harry
hadn’t forgotten him.

Total 12
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